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QUESTION 1

A client is walking on a treadmill at 3.4 mph and a 5% grade. What is her Y02 in relative terms?

- 9.11 mL . kg-1 . min-’

" 11.9 mL . kg-1 . min-'
" 24 mL . ke-1 . min’
" 20.81 mL . kg-1 . min-'

A.B.C.D.

A

Correct Answer: D

QUESTION 2

In the ECG shown on the following page, which of the following conduction abnormalities is indicated?
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A. RBBB.

B. Third-degree AV block.
C. First-degree AV block.
D. Mobitz I.

Correct Answer: C

QUESTION 3

Osteoporosis is more prevalent in:

A. Women who have never been pregnant.

B. African-American women.

C. Women who are involved in activities that place stress on the wrists, hips, or lum bosacral region.
D. Postmenopausal women.

Correct Answer: D

QUESTION 4

Capital budgets:

A. Reflect the costs of implementing a program.

B. Reflect the costs to operate a program.

C. Are not necessary with fitness programs.

D. Are part of the balance sheet in financial reports.

Correct Answer: A

QUESTION 5

Which of the following is a resistive lung disease?
A. Asthma.

B. Tuberculosis.

C. Cystic fibrosis.

D. Emphysema.

Correct Answer: B
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